o | gBZ27—2 / F—T WYL X 40%40, 50%50
R Motorized Vertical Linear Stages / Table Size 40x40, 50X 50

RERA

Manual
Stage

ZAO04A-W101 ZAO5A-W101 ZAO5A-W2CO01

S HKEGDAFY A—r—TNORE R, BPERBVET, ELEPERIFOMMERYET,

0 ZAO4A-W101 *The length of the connector cable in the image is different from the actual one. The bending radius is 40mm.

4-M3 Depth 4mm 4-M2 Depth 4mm

AR = 4-M2 Depth 3.5mm 200
=) @ &%‘
Swivel . =8 |
(Tilt) \ = ¢} béi
J O E .
$
|

161

+

o)

o
o

32

40

30

24
13

BEEE i

27— T [do | i 5]
Motorized ‘_J ﬁ}
Stage 13 30

24 4-for M3 screws/ 32 =8 )

X XY 30 Back Side
X-XY 40 |10
(93)

Z CW Limit Sensor

tew }

CCW Limit Sensor

36t2.5
—
==

e

@t lccw

Rotation re}

@ ZA05A-W101
AA NI _ Depth 4 30 4H8 Depth 4

é:l‘ ZIZ‘ ) 2 8-M2 Depth 5mm 4-M3 Depth 3.5mm (200) | cpmm 4 ¢ e
wivel ~—

(Tit) s Ve : Jﬂ[ﬂﬂ}ﬂﬂm}lﬂlﬂ] SR F
2 | sl R Lt : E
= -

o

f
i

"

27—
XYe [ 7| =

oo =@\

= 4] Back Side
RATF—Y 4-M3 Depth 5mm, 24
Vacuum 30
Stage 40

ThlfEEE 60.5 (43)

Control (103.5)
Electron-

(oS mf I CCW Limit Sensor
F—9— T ¥ Home Position
k-5 wos

Motor Q < ‘ ‘ L §
Controller lccw =
RS54\ © o CW Limit Sensor

e
Tﬁ'_‘y IR | a0 \_4-for M3 screws
Driver Shaft length 3mm
Box

77U @ ZA05A-W2c01
J—ay (200)

Applica- ‘

(50.5)
50
40
30
‘ 24
L
Py

=

(18)

tion
ET—9—
RSN\
Motor

Driver \Q _% =1 g

E—9— 4

T=I 24
Motor 4-M3 Depth Gm:/ 40
Cable 4-M2 Depth 4m 50 (65)

(115)
8%
Appendix Home Position
CCW Limit Sensor \ CW Limit Sensor
\ A\ T

(68)
50
24
Aﬁ
9/

40

=\
Back Side

T CW 4
7ot ﬂ JA =
TU— =1 il — <
Accesso- lCCW , L iy 2 B N SN
ries B ((HE&) TORUMIFERVET,
Ll40 4-for M3 screws Mounting by low head screw (attachment)
BE Shaft length 2mm

VAT L

Inspection
System

1-006 ‘ CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com




TV [ 90A0=-FH4 F / 9%E /| BEIZD K=z Y

Aluminum Body / Cross-Roller Guide / Wedge / Ground Screw, Ball Screw

2K
Mode! Number ZA04A-W101 ZAO5A-W101 ZAO5A-W2C01
BFEVERIK
Mirror Model Number ZAO4A-W101-R ZAO5A-W101-R ZAO5A-W2C01-R
Z 2] 40mmx40mm 50mmx50mm
Table Size
RAHR BHESOAOD—SHA N
Guide Mechanism Cross-Roller Guide
T EhHIE
Motion Range +2.5mm +4mm +1.5mm
EYHR 1/2-79E, BHlx>, Y—K 0.5mm 1/4-7H9E. R—ILxZ, J—R~1.0mm

Lead Mechanism

1/2-Wedge, Ground Screw, Lead 0.5mm

1/4-Wedge, Ball Screw, Lead 1.0mm

TIW/IN=T AFTVT

DIREE 4. 4 Full/Half Step

0.5um/0.25um

Resolution ~

NAY0OATY7 (1/2058))
Micro Step (1/20 div)

0.025um

REERE

Maximum Speed

2.5mm/sec

BRUIERDIEE

+ +
Repeatability =+0.5um (AVE. £0.07um)

=+0.5um (AVE. £0.06um)

=40.2um (AVE. =£0.04um)

BANE—> = <oum (AVE. 0.53um)

=2um (AVE. 0.38um)

=0.3um (AVE. 0.16um)

Lost Motion
EEE =4um/5mm =5um/8mm =5um/3mm
Verticality (AVE. 0.98um/5mm) (AVE. 1.51um/8mm) (AVE. 2.47um/3mm)
IKFMHETE
Load Capacity (Horizontal) 24.5N (2.5kef) 39.2N (4kef)
MHE TILIE
Material Aluminum Alloy
S8 Bt b
Finish Clear-Matt Anodizing
AE 0.23ks 0.42kg 0.45kg
Weight : : :

SHATFYEYVTE—R—
5 Phase Stepper Motor

PK513PB (AU I &ILE—&—: EIREH 0.35A/8, BERRATVT7H 0.72°, U—NE5K)
PK513PB(Oriental Motor: Phase Current 0.35A, Basic Step Angle 0.72°, 5-Leads)

TS3664N16E2 (ZE/IINEH: EHRER
0.75A/1, EART V7 0.72°, U—NR5X)
TS3664N16E2(Tamagawa Seiki: Phase Current
0.75A, Basic Step Angle 0.72°, 5-Leads)

T2 d4mm  AT7a>/\URIV:C type d5mm AT aV VRV A type
Motor Shaft Diameter P4mm Conformance option handle: C type d5mm Conformance option handle: A type
mE S #2208 (B0t RP13A-12JG-20PC)
Connector 20Pin Round (Hirose: RP13A-12JG-20PC)
AT —IEREAT o,
Stage Wiring Type S A v
T ERRR F-113(LIMIT) F-115(HOME,LIMIT), BF:&\ . F-115R(HOME LIMIT) F-116(HOME,LIMIT), F52(): F-116R(HOME,LIMIT)

Sensor Model

F-115(HOME,LIMIT), Mirror Model: F-115R(HOME,LIMIT)

F-116(HOME,LIMIT), Mirror Model: F-116R(HOME, LIMIT)

9= J) AR

Clean Room Lubricant Model Number LD TG

ZAO5A-W101-C

ZAO5A-W2C01-C

HZEJUAHREN

Vacuum Lubricant Model Number ZA04AA-W101-V

ZAO5A-W101-V

ZAO5A-W2C01-V

AT =V OREBEIN—T AT YT TI>THEVET.
Stage is inspected by half step setting.

F—=N—FR—VBICHBBRRBEENELA. FHRICOVWTIIEN—DEBEBL
O Tz,
Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information.
o I =20V AMHROBKXBKRREIC -C" ARHEET. FHAICDLTIZC-005N—2
EBRLTTE0,
Clean room lubricant model has “-C” at the end of model number. Page C-005 for
further information.
OE§7 ) ZEHROBRIEKRRIC -V PEEET. FBICOVTIEC-005K—Y %2
BLTTE0.
Vacuum lubricant model has “-V” at the end of model number. Page C-005 for
further information.
o - —HROFHAIC DN TIFC-004N—T BB LTI EL,
Page C-004 for further information about motor change.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

AT —IAERDFMIC DV TIEN-026~N-027 BB L TFEL,
Refer to page N-026~N-027 for stage wiring connection information.

) WETBE—FZ—I> hO—F « RTANCDWTIEN-002X—2ZBR L TTFEL,

Refer to page N-002 for information on corresponding motor controller and driver.

o SIEY D E—R—T—TIUDWTIEN-014~N-015X—=T A BB L TR EL,
Refer to page N-014~N-015 for information on corresponding motor cable.

PEBRDIERLICKYRBOBESE) ET. L FERBETHHVEDET I,

Y We appreciate the product customizing. Contact us for further information.
FI7EYIIZDNTIRO-00IN—=22B8B L TREL,
Refer to page 0-001 for information on accessory.
F 723N\ RILEO-008X—J BB LTTFE,

Refer to page 0-008 for information on Option Handle.

2HATYEV I E—R—tHREEVET.

RSB | ZAOSA-W2C01

Y 2 phase stepper motor is available. 3 Not compatible:ZAO5A-W2C01

[E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

AT I
K@

System
Products

EXR

Industrial

RERA
Experi-
mental

FHE
25—

Manual
Stage
X-XY
X-XY

[ElEn

Rotation

AAN)L
(I=#)
Swivel
(Tilt)

BEE
25—

Motorized
Stage
X-XY
XeXY

[Elk

Rotation

ZAR)L
(I=#)
Swivel
(Tilt)
734
XUk
AF=
XYe

Rz
27—
Vacuum
Stage

=S
Control
Electron-
ics

tT-5—-
avhk0-5
Motor
Controller

RS\
Ry IR
Driver
Box

77U
T—vav
Applica-
tion

tT—9—
RSA/\
Motor
Driver

E==
7=
Motor
Cable

8%
Appendix

7ot
HU—
Accesso-
ries

RE
VAT L
Inspection
System

1-007



